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H27 | H28 | H29 | H30 R1 R4 R5 R6 |#g7&Ek| H27 | H28 | H29 | H30 R R4 R5 R6 |pi&EH| H27 | H28 | H29 | H30 R R4 R5 R6 | #T4ELE
BBREERY) 97 100 102 57 128 59 179 125 |69.8%| 213 259 191 243 288 | 212 | 455 | 415 |91.2%| 310 | 359 293 300 | 416 271 634 540 | 85.2%
FERHEERY) 71 144 85 93 129 60 193 140 | 725%| 183 298 207 233 | 404 | 202 | 448 | 355 |79.2%| 254 | 442 292 326 533 262 641 495 | 77.2%
RRE 14 48 44 30 48 19 35 35 |100.0% 77 139 110 129 97 160 | 236 | 230 |[975%| of 187 154 159 145 179 271 265 | 97.8%
R F A 36 54 49 40 104 47 65 105 |161.5% 113 99 147 101 113 130 | 211 149 | 70.6%| 149 153 189 141 217 177 276 254 | 92.0%
EEpis 359 4672 219 202 415 128 423 366 86.5% 550 653 498 458 590 317 498 429 86.1% 909 1115 717 720 1005 445 921 795 86.3%
=R 68 47 68 81 29 37 112 63 |56.3%| 120 149 152 166 192 128 260 | 233 |896%| 188 196 220 | 247 221 165 372 296 | 79.6%
B 15 31 20 29 20 59 49 71 |144.9% 59 66 122 127 126 81 188 172 |915%| 74 97 142 149 146 140 237 243 | 102.5%
FEER 33 48 86 53 99 74 168 142 |845%| 116 158 240 | 217 205 | 224 | 538 | 403 |749%| 149 206 326 270 | 304 | 208 706 545 | 77.2%
B 53 104 96 65 74 64 188 139 | 73.9%| 175 189 274 | 234 190 | 247 567 | 400 |705%| 228 293 370 | 299 264 | 311 755 539 | 71.4%
JeEp s h4 09 17 18 28 11 62 22 35.5% 120 106 91 95 96 /6 156 137 87.8% 174 175 108 113 124 87 218 159 72.9%
RFH TR 51 67 59 43 61 57 91 81 |89.0%| 136 134 117 133 161 184 | 305 191 |626%| 187 201 176 176 2992 241 396 272 | 68.7%
At (B) | 851 | 1174 | 838 764 | 1135 | 615 | 1565 | 1289 |82.4%| 1862 | 2250 | 2149 | 2136 | 2462 | 1961 | 3862 | 3114 |806%| 2713 | 3424 | 2987 | 2900 | 3597 | 2576 | 5427 4403 | 81.1%
FRfaRds (%) | 96,000 | 92528 92,672 |92.288 | 92976 | 88,568 | 87.336 | 86,304 -
mE=l 28% | 37% | 32% | 3.1% | 39% | 2.9% 6.2% 5.1% -
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